F4lE /\wE—T=X120

LKTRBRI)—TEH>

FR30F5A9H

i

BHBAR—YRNE

* )= EIBRDRE
DOBEOENVAZ LA
Q@ —LEDOLEF MBLEY—LE-TL—LE25—LE)

QEHER R
@LvAaltA

* LAMRICK S, 64 —LEI/—TR)
A JAOowvsy 11 2] 3] 4 |ms8k|iEs B JAawvy 112 3] 4 |msx|iEe
ore— - S &
AR RT  Lommoad ) e o6| # o2 4 ([ RBECUSSEL T o) e | (20|
Tl RFF [2z=vs2] =18 WL [ su—>7=2]
KA .= ﬁ:
EIE[EE]' XF [ o747 ) 63l w | o lo6li-tl 3 loa 2%% AEF [ &AFmTA] 26|« | % |26 |02 4
FREE EBM [ JsSEW ) A #8E [ fAEHTA )
Hie LT A—R ﬁs -
e XEF  Lmwra ol el as |im] 2 Joss o] BF (- mokemok 11 et o | | 56 |0-2| 3
¥ ZERF [ #wrwootc] B OfF [ mokmok ]
LE 4 M — T = =
MR T2 [7v=ren] %[ 60|63 % |20 1 4§%E [ Jss@il ) * | 62]65| % |2-0] 2
Al EF [ y)—7=2] WA #8F [ JssEl ]
c Joawvy 112 3] 4 [mx|Ex D JOowv¥s 112 3] 4 [mx|Ex
'E’_;§ wRF (72200211 ool 6ol l1-1] 3 foaze |1|MF TBF DB T ol l « |20 1
Bl E/mZE [ fiEmTA ) BH = [ to747 ]
B mk CFeR==s] L o e ool 4 o|FME #E U@AERTC | ol
hE JEF [ R#TS ] Y EBEF [ X#TS ]
=F g [7==0ox 1 esliet] 2 foaro [o|E®E FF O UEERTCIL 0 | 26|02 4
IMR BASE [ 5z=vsz] EH §h3E [ h<h<z=2 ]
B S . _—
BA BRT 722021 06| a6 |  fo-2| 4 o BT CARTS T e | 6| # |2-0] 2
mlE FF [ 7z=v52] A FEF [ A#MTS )
HEDIEF - - - 4xX7:D1-2, @3-4,. @1-3, @®2-4

0.71

0.25

0.4

0.63

0.75

0.33

0.25

0.67



* LAMEICK S,

EA4R/\WwEF—FT=X120

LIEGLRIREE b—F A2 >

K1 b—F A2 >

64

2L b—F A2 k>

61

64

60

WA JEF

CEH B

B R

e JEF

INEE =

| AR EF

BT# XEF

=10 i

T A BF

= %

LR BAE

£k RIETF

hE BRT

b BF

| BA TBT

=F HhETF

- fEl EfE

FHE #F%

| OB BT

B XF

| OWE RERK

hE BF

A RF

BH EEF

- #HE BT

KiFE EF

CEE RTFT

BERE AXF

- EER BE

£ EF

" BH Bhx

[ mhiveE ]
[ €747 ]

[ FFR=—% ]
[ K#TS ]

~

JY—r7=2 ]

~

GY—7=2 ]

~

JSSEIL ]
JY—r7=2 ]

~

~

JSSE

o]
JSSEIW ]

o} B0}

~

~

TJIZvIR ]
Jz=vysR ]

~

[ #-wmr—x ]

[ % tia—1c )

[ K#TS ]
[ X#HTS ]

~

Jx=vsR ]

FiEMTA ]

~

~

BRERTC ]
AMTS ]

~

[ 2747 ]
JSSEW ]

~

[ mokmok ]
[ mokmok ]

[ 7z=vs2 ]

[ 7z=vsz ]

[ 79z=vsz ]

[ 7z=vsz ]

[ &EHTA)
[ &iEmTA )

[ SFERTC ]
[ H<h<r=7 ]

TH30E5A9H
W BEAR—YAE

* 6 5 —LEW(/—T F)

62

60

61

64

63

64

61

61

60

& B
62

& B
62

& B
61

&z B



NE-T=ZAKE120
2008.5.9

1= XYk~
B - I\ - BENT
FEEE WA - EHAY

2 F=F XYk~ S =XV A =T XY
{25 f28 « /AP fBh5 1 8 - PENT 2k - 28 - @y’




*x/\wE—8
WA « JBHARTP (FOE 32 #%)

FBEN S DS
i » hBANTP
BNETBSNHDNEDTSNF UL,

GETEFED 120 FONXTPENDETERZEUVNEBOAETT,
KEF, FEBASTIEMRAT, SHLULTIESU,
SHSh, RERENERTUIL.



